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 (¢) K.G.Balakrishnan -

In which year did the Indian industrialist Ratan Tata,
who expired in the year 2024, receive the “Padma
Vibhushan Award” ?

(@ 2008
(c) 2014

(b) 2002
) 2012

.What is the minimum educational qualification for
“Uttar Pradesh MukhyamantriTYuva Udyaml Vikas
Abhiyan Yojana” launched in ﬁ) 4 7

(@) Class 8th (b) [Class 5th

© Class 12 ) @lss oth

Which country honoured the Pr{mhe Minister of India
with “The Order of Excellence” in 2024 ?

ﬁ')’ France ~-(b) Guyana

(¢) Egypt (d) Russ1a il %

The Indian government had launched a rescue
operation in Ukrame to evacuate its stranded citizens.
This operation was known as:

_fay Operation Ganga ?,_Qi

(b) Operation Devi Shakti [,
(c) Operation Bucharest ="
™
o) :
Which of the followmg is not cfor;ectly matched ?

(d) Operation Kaveri

(a) Article 153 — Office bf the Governor

(b) Article 155 - Removal of the Governor

(c) Article 154 — Executive authority of the
g ey - Governor

(d) Article 156 — Term of the Governor

Who among the following had the longest tenure as
the Chief Justice of Supreme Court of independent

India ? 2:;' ;
Y.V. Chandrachud . ExE
(a) F~ [ﬂ%

(b) Sabyasachi Mukherjee (V)

) 1)

(d) Ranganath Mishra |
In which Articles of the Constitution of India have
the provisions related to the electoral process of the
country been made ? "

(@ Articles 333 to 334

) Articles 324 t0 329 °

(©)  Articles 329 to 344

(@) Articles 334 0 339
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10.

"The correct order of mountain ranges from South to
North is :

(a)
(b)
©
Gy

Karakoram, Zaskar, Pir Panjal, Ladakh
» Zaskar, Pir Panjal, Ladakh, Karakoram
Pir Panjal, Ladakh, Zéskar, Karakoram

Pir Panjal, Zaskar, Ladakh, Karakoram

In which state of India are the largest monazite
deposits found ?

(@) Kerala
(c) Odisha

(b) Tamil Nadu
(d) Karnataka

" Given below are two statements, one -is labelled as

Assertion (A) and the other as Reason (R),

Assertion (A) :
water.

Deccan trap is deficient in ground

Reason (R) : Deccan trap has more than 1000 metre
thick impenetrable basalt rock cover.

Select the correct answer from the codes given below :-

(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

: *fb')/ Both (A) and (R) are true and (R) is the correct

11.

12,

13.

14.

explanation of (A).
(c) (A)is false, but (R) is true.. -
(d) (A)is true, but (R) is false.

Which of the following protozoa is known as the
“Grand old man of Intestine” ?*

(a) Arcella (b) Glardla'
() Radiolaria (d) lefusxa

Which of the followmg is; the chemlcal nature of

enzymes ? :
(a) Carbohydrate (b) ' Lipid
(c) Vitamin ()~ Protein

Which of the following coal pfoducing area is not
located in Chhattisgarh ?

(@) Chirimiri

(c) Barjora

(b) Sonhat EuE
(d) Jhilimili ﬁ

The Muppandal Perungudi area of Tamil Nadu is

known for :
(a) Solar power (b) Atomic power

(¢) Wind power (d) Hydro power,

10.

11.:

12.

13.

14,
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17.

18.

5%

/&Ef End of Titles

19.

20.

i
<(d) - Rajkumar Slmklah

eY

- Who invited Mahatma Gandhi to -Champaran
regarding the Indigo cultivation ?
(a) Rajendra Prasad
(b) J.B. Kripalani
§

(c) Motilal Nehru *: :

Which King’s title wgs §The man with burnt legs’ ?

(a) Nalangiri 3 (b). Karikalan
(c) Duttagamani H ‘3, (d) Nedul Jeral
~Match List-I with List-II and choose the correct
answer from the codes given below the lists :
List-I List-IT'
: (Iliscription) : (Ruler)
A. Hathigumpha Inscription * 1. ‘Kharavela
B. Mandsaur Inscription s 2. Puluvami
C. Aihole Inscnptlon"! 3.7 Pulakeshin 1T
D. Nasik Cave Inscnptlon ' * 4. Yashodharman
Codes : };; ye '
A B E«? D
(@) 221 73 4715
® 3 2 4 Bt
© -4 3 im2iields
“& 1 4 =3 2%
~Article 17 of the Indian Constltutlon is related to:

.(aT Abolition of Untouchablhty

(c) Freedom of PreSs
d) Equahty before: I;?w
é »
Which one of the follpai@mg is correctly matched ?

(Painter) %fi (Ruler)
(a) Daswant - Jahangir
(b) Manohar - - Akbar
(c) Basawan - Aﬁrangzcb
(d) Fakirullah  ~ = Shahjahan

Khond Movement (1846 — 55) was triggered due to

the British Government’s forceful abolition of which

traditional practice of tribes ?

(@) Human Sacrifjce (b) Infant Sacrifice

15.

16.

17.

18.

19.

20,

(©)  Animal Sacnﬁce

---------------------------------------
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21, Match List-I with List-Il and choose the correct|21.  g=fi-I @l F=-11 & gafa hifg ot g & 9= g
answer from the codes given below the lists : T e 1 TN T T IR ?\{ﬁ"'{ :
List-I List-11 eI 11
(Macromolecule) (Examples) ' (I53Y]) ) (33TETN)
A. - DNA 1. Energy Storage A. AT, 1. ST WUSHI
B. Phospholipid 2. Cell Membranes B. ®whifafis 2. ifdrRT et
C. Cellulose 3. Encode genes e @T‘g’?ﬁ'ﬁ 3. A TR
D. Starch | 4. Cell Walls D. =& 4. DR Rl
Codes : : e T
A B C D ) I}b c =
@ty ~* 3 L @ 4 331 2
® 3 4 1 2 (b) : 3o ghdiog e
g 73 240 ! (0): =3n 2 . 4R
d 1 2 3 4 g 1 2 3 4

22.  Given below are two statements, one is labelled as |22, :ﬁ%aWﬁEW% %ﬁ,}@@ﬁ SRR (A) T

Assertion (A) and the other as Reason (R). o Hﬁﬁm (R) FRITATE |

Assertion (A) : Earth is the only planet known to m A): WWW%WW%'

have life. ‘ ‘ e i '

Reason (R) : Earth has an atmosphere which is a ‘ (R) g W q«z QEF s )

mixture of oxygen, nitrogen and carbon dioxide. eI Qa?ﬁﬁh STEATHATES T T 2 |

Select the correct answer from the codes given below : |- ﬁﬁﬁwﬁ‘@mﬁwaﬁq

(a) Both (A) and (R) are true, but (R) is not the (@ (4 ?T"T[ (R) 36w g, fFg (R), (A) T &
correct explanation of (A). < EJI@T?S&EF{HT%

A8 Both (A) and (R) are true and (R) is the correct () Q) H&IT ('R) A adt 3ﬁ’( ®R), (A) T T&r

explanation of (A). a‘JTI'@ITEF{?IT% |

(© (A)is false, but (R) is true. i © (AT, fAg R) &R

(d) (A)is true, but (R) is false. At @ (A)TRE, f?mo R) TR |

23. On whlch. date is ‘World Heart Day’ celebrated every (3. ‘%ﬂmﬁaw ma’é%&rﬁrﬁr@rmm% 9
Yo R (@) 28 fmwR () 26 R |
(@) 28th September * ' (b) 26th September (©) 30 R (d). 29 R

(c) 30% September - (d) 29" September ; ,
' : 24, VR i T Tefe o7 S AR o s det

24. The first Bullet train in Irrdta, wbich is to run between 2 Rrefifad 3.4 fre w 0 P Sl
Ahmedabad and Mumbai is being prepared with the w20 e G
help of which one of the following countries ? o
(a) England ‘ ' ‘ @ 5@3 ]
(b) France k ®) ww {i EE
(¢) United States of America ‘ . (c) WIS JARHT %
)" Japan ' (d) U= 7
25. Which of the following acids can melt gold ? 25, el 3 & e vt € 1 T WEAT R 2
(a) = Sulphuric Acid EE (a) TeRieh s
(B Aqua regia E%‘ (b) QWT\Tf\lﬂT
() *Nitric Acid (o) sfeen Ufdrs
(d) Hydrochloric Acid (d) RS e
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51.

52.

_(a Epicenter

53.

As per the Disaster Management ‘Act, 2005, the

National Disaster Management Authority (NDMA) is
headed by the

(a) Environment Minister
(b) Home Minister
..(c).,. Cabinet Secretary
td) Prime Minister

The point of the Earth’s surface directly above the
point where an earthquake ocours is called :
(b) Focus

(c) Fault (d) Fracture

Glacial Lake Outburst Flood (GLOF) belongs to
which family of natural hazards ?

(a) Climatological
4) " Hydrological

(b) Meteorological
(d) Geophysical

54. Tsunami Wéming centre in India is located at :
A=) Hyderabad (b) Kolkata
(©) Mumbai (d) Ahmedabad
55. Which of the followmg isa geologlcal dlsaster ?
(@) Storm surge «@57 Tsunami
- (). Wild fire (d) Flood
56.

—J Tidal energy

57;

S8.

9.

Which energy is developed by gravitational pull of
the Sun and the Moon on the Earth ?

(@ Wind energy (b) - Solar energy g

(d) Thermal energy

as:
- COP
@ —
475

(¢) 4-75x COP

®) 4 75
6(0) 4

(d) None of the above
Ethanol can be blended with whlch of the following

for use in engines ?
(@) Biodiesel éb‘f Diesel

(c) Edible oils ‘@Q/ Petrol
Which gas is used as fire extinguisher ?
(@ Oxygen

&) Carbon dioxide -

(¢) Methane
d) Nltrogen

The horsepower per ton of refrigeratioh is éxpressed ‘57‘

51.

52,

53.

| 54.

Ss.

56.

S8.

59,
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64.
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In a closed system, thereis :

_) exchange of energy with the surroundings and
not the mass.

no exchange of energy of the system.

‘(®

(c) exchange of mass and energy with the
surroundings.
(d) exchange 61‘ mass with tl\(i:jgtglrroul1dings.
o
Work done is zero in constant ' process.
—) Volume £
(b) Pressure W
(c) Temperature
(d) Both pressure ahd volume
A unit hydrograph has one unit of : :
—4) rainfall duration ’
(b) peak discharge
(c) the time base of direct runoff )
(d) direct runoff ‘ lj '
oy A
Which parameter remains 1 ‘“bnstant during a
reversible isothermal process ‘7 =
-—(ﬁf Internal energy :
(b) Rate Qf heat exchange
© Enﬁopy a W
(d) Enthalpy .
In India, the tropical cycloneé "occuf in the months of
u_ﬁ.,,.ﬂ
() May—June , n;

li

(b) July — August
Loy Both May — June and Octpb;r ~ November
(d) October — November 17

Rate of evaporation is inversely proportional to : 65.
(a) temperature
(b) surface area
(c) wind speed
&y humidity o
(0
vg -

64.

60.

61.

62.
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63.
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68.

69.

70.

71.

- (¢) Correction factor of the vernier scale

el

If a plane is inclined to; both the reference planes,
then the plane is called :

2)
®)
©
@

66.

oblique plane-

. : E4E
auxiliary plane E@{
cross plane

perpendicular plane

The curve traced out by the end of a piece of thread
unwound from a circle or a polygon, the thread being
kept tight, is termed as .

() Involute
(b) Evolute
(c) Logarithmic Spiral
(d) - Archimedean Spiral

67.

The difference between the 1 primary scale division

of the vernier and the 1 (one) vernier scale division is
termed as

68.

(@) Zero point on the vernier scale

—(b)—Least count of vernier scale

d) Error quotient of the vernier scale

In third angle projection, the object is kept in:
(@) ond quadrant

) '
(c) 4t qﬁadfant

~4dy 31 quadrant

69.

1t quadrant

What is the purpose of a sect1onal view in|
engineering drawing ? 70.

{3}~ To show the internal details of an object by
cutting through it.

(b)
©
(d)

To display the external features of an object.
To provide a perspective view of an object.

To represent an object in a simplified form.

Whén the axis of solid is perpendicular to V.P,, the .
view should be drawn first and
view then projected from it. .

(@) (b) front, top

© d

top, side

side, front

top, front
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72.

73.

74.

75.

76.

77.

“ (¢) " Rigid plastic material

78.

79.

___________________________
------------------------------------------

. Y(b}/ Steady state, Trar;s"’ént Accelerated

_(d)/ remain constant

<& Adiabatic

<(aY” Thermoplastic mferial

“The correct sequence of creep deformation in a creep
curve in order of their elongation is :

(a) Transient, Steady-state, Accelerated

(c) Accelerated, Steagy,state, Transient
(d) Transient, Aecele%?ed, Steady state

x4 1 F
If the volume of a gas is reduced to half from its
‘original volume, the specific heat will :

(a) be doubled
(b) Dbe reduced to half
()

increase four times

ois

A cycle tyre bursts suddenly. What type of process is
this ? {‘x

) 4 f‘\ (b) Isothennal

(c) Isobaric {¥1(d) Isochoric

Which of the following represent a closed system ?
ta) . Universe ‘ :

(b) Boiler

(c) Centrifugal pump

(d) _ Bomb calorimeter

Cast iron has carbon content of
@ 065-15%  —i(b) 0:3-0:6%

() 7-8% “%dafz 4%

Polyvmyl Chloride (P%E,) isa:

(b) Thermosetting m‘zft.enal

(d)- Elastoplastic material

The ratio of Young’s Modulus of high tensile steel to

that of mild stee] is about :
@ 10 (b) 05
© 20 @ 15

Lack of toughness in a material implies
(@) softening (b) ductility
(c) plasticity Ay brittleness

76.

7.

78.

72.

73.

74.
L TR g 2

75.

GET IT ON

Google Play

ARUM-0,1
mﬁaﬁwwﬁﬁv&wﬁzﬁﬁrwﬁéﬁfw%m
LK LR
(a) .aﬁaﬁ’mm,m
(b) Tt v, aforh, @i
©) ﬂﬂﬁ,wmﬁﬂm
(d) @i, caft, Tart sTaedT

| aﬁ%ﬁﬁvmmmwmmmm

frar e, A Igeht farfing <A -
(@ gri@smef
(b) 3edt & STt

(c) aﬂ{fﬁﬂ*wﬁ

(d) ferw

mﬁﬂaﬁrmmqﬁm%l%mm

(a) TQST (b) THATH
(c) TS (d) wemaﬁm

ﬁﬂi%{ﬁﬁﬁﬁ#fﬂT@Wﬂﬁﬁ"@ﬁﬁW%?
(a) S, .

(b) SF

(c) SRCTA R

(d a7 e

EREINIEEAC I EE: e
(@ 065-15%
) 7-8%

?l
(b) 03-06%
d 2- 4%

I T At SO F AT AR 3 qg T 6 A
mwmw@m%
() 20 (d 15 Eﬁ

Foreft e 4 Sfrerer 6 ot T e


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda
-y

80.

eY

7

Solar radiation ﬂux is usually measured with the help
of : :

(@ Sunshine recorder
(b) Anemometer

v (o) Pyranometer
'(d) None of the above

81. The Surl subtends an angle of minutes on

the Earth surface.
(@) 32 ) 22
(c) 52 d) 42

Gasification of biomass is whlch type of conversion
process ?

-3y~ Biochemical
(c) Thermochemical |

82.

(b) Chemical
(d) BiologicaI‘

83.  The following type of energy is stored as latent heat :

(a) Mechanical Energy

~6) Chemical Energy

(c).  Electrical Energy .
EE

(d) Thermal Energy %

The longest day and longest night ‘dates are

respectlvely

~(a) 21 June; 21% December
(b) 215 September; 215t March
(c) 21% September; 215t December
(d 215 June; 21% March

84.

85.  Which process is responsible for the production of
energy in the Sun ? -

(@ Nuclear fusion reaction
Loy Nuclear fission reaction

(c) Exothermal chemical reéction

(d) None of the above

86. A barometer measures :

{3 Gauge pressure
(b) Differential pressure
4> Absolute pressure
(d) None of the above

87.  The main combustible component of biogas is :

(@) Ethane (b) Butane
_________ (c) Carbon dioxide

...........................................................................................................................

| 86.

80.

81.

82.

(c)  FHTEEE

83.

| 84

85.

87.
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88. The deliberate manipulation of data, result or images | 88. ﬁi%ﬁ ﬁ:ﬁﬁ'q qﬁq;eqq-f. A I FT el = &
" to support a particular hypothesis or claim is called : RS, TR A Ry E2) SRR %“%
~¢&y~ Fabrication - (ST-HGE) FA Y T AT L -
(b) Falsification EiE (a) Ty
(c) Copyright »EI% (b) ﬁ{m , .,
(d) Salami Slicing lt_j (c) wHidhrze "
; < (d) wof wmeRn
89. India Meteorological Qeg:artment recognizes a year ‘
as a “Drought Year” whEﬂ)annual rainfall is deficient 89. W peirept IERIC] R 3g § 7 T T 3 !
by of normal of-more. . g
_ LA FITIGT <A R ST aier vt w2 T3
(@) 10 percent (b) 3 percent SART A BT 2 | R
(¢) 20 percent (d) 15 percent (@) 109fwe ®) 3 yfiee
90. What is the cdre value that emphésizes the © 20 @ 15 yfowra
importance  of developing  and maintaining : -
competence in professional practice ? : 9. . I T T 1} S A A Y T fysfyg
2~ Competence (b) Ignorance 3’—@ 3N IR ST T ¥ Hoeg W SRR 2
(©) Negligenc¢ (d) Mediocrity (a) (b) FHar
. : s (c) wET - () I
; 91. 'Intellectual Property Righ”tSa(IPRs_) protect the use of ' g
1nformation. and ideas thaﬁi?e Bytzen , 91. Sifge Huer R (IPRs) Ut AT 3R fommt e
L. Social value f“f"; ' ‘ FATE, @IS -
IL. . Ethical value % ea L wmifes e
IL. Moralvalue - “ " I e qe : EE
IV.  Commercial value IIL ﬁ]‘g‘m]@" Eﬂﬁ
Select the correct answer from the options given Iv. Wﬁ%}%q@ :
UZ)I}VY: et % e A9 R it d et s
1 , 11 ani '
/. E, 03 ?V EZ; II onl | L= B ®) L3k v
: only. ,
(¢) MandIV Y (@ mIRIV - @) ¥
92. What is the term of copyright for an author of a .
book ? = ‘ 92.  orelt e % v 3 for Fieerer B e w2 9
M~
(@ 99 years <t (@ 99a¥ -
(b) Life of the author ﬁr]i,_I’;; 20 years » (b) él@; 1 S + 20 o
‘ : c) 49
(c) 49 years e (
&)~ Life of the author pIG} 60 years (d) VG 1 et + 60
93.  Which is not the content of Provisional Speciﬁcationl 93, e ¥ qﬁq_m P et Wﬂ i
of a Patent ? femraafide
(a) Title of the invention (a) TSR =7 Yy
(b) The field of invention and background (b) InfaswR F7 &7 3k fsER 6 w &
information of the invention SICEIRN
(9)/‘ Object of the invention and statement of the () mwgﬁa—ﬂ ik S| [T S
invention (d) I
e L R PR O
-_________(.d)- ------ * 12 *
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Yield of a reservoir represents : 94,  Ueh SATI i IS Freftmadie .
(a) The capacity of the reservoir (a) ST hl GHdT
(b) The inflow into the reservoir 4 (b)  STeITIR T S YA
(¢) The outflow demand on the reservoir (c) g ut dfeate 7 77
(d) None of the above (d) 3‘@&?{ R R ‘

95. A level crossing type of cross drainage work consists | g ;F!ﬁ:ﬂ'[ YR o hid 34T 1 H fre s
of : : %ﬁf% ":il 0]
(a) two weirs only | ‘ @ St ‘__}5[ o 7/-”_%
(b) one regulator only (b) Fae %ﬁ?ﬂ%
(c) two weirs and two regulators . : () =arfax ﬁxaﬁqmaﬁ
(Hf one weir and two regulators o (d) T forae it 2t fames

96. The amount of energy ‘carried by a photon is 06 R S S e m : N
inversely proportional to : : W e

" (@ Wavelength (b) Speed . : (a) TR - (b) TR

(c) Albedo (d Amphtude () == (d) W

97. A dummy act1v1ty is used in ‘PERT’ network to 97. : an'-T FW ¥ R PERT’ Yead wF o

describe : - ‘. : L ; Tﬁﬁﬁxwmﬁ?mw%l
(@) Necessary time delay . @ aﬁmwﬁm

]~ Precedence relationship . : (b) qéaﬁg;m
(c) Resource idleness - ' % 0] ‘ %ﬁgfm
(d) Resource restriction - b ’ (d) GETEE e
98. The term “triple conétrainf” ih project manrs}gement 98, TR Yo & “frer AT Y § qr(qﬁaﬁ SN
traditionally consistsof . o‘f the project. . WTTI'HT * , ETI'&IH g
(a). risk, resources and time . g -l (a) Gﬁf\@q e R Ry
(b) cost, scope and quality - (b) T, FERT GﬁT‘TUIEﬁlT
(c) quality, risk and resources i () O, Ghﬁaq S GameE
(d) time, cost and scope 4 | (d) HIRI E{l’flj[ IR LIEED
99..  The ratio of rainfall in a particular year to the average 99, Tt oy -é;f‘& Iyl T T i aut (TR T
annual rainfall (AAR) is called the { ' CERIGT g \ FEAAT R |
(@) Index of drought : v ‘ (a) g;@zmw
By Index of wetness (b) :nﬁmq@ma;
(¢) Index of yearly rainfall (c) =it aut AT Y-
(d) Index of average rainfall (d) 3t i h FEehiw
100. UniF of duty of crop is : 100, Ee < SR R THE R ;
(@ ha/em (b) em/sec (a) A (b) SAHTS
_ ,-(b)/ha per cumec (d) m/ha (c) TR @ wWevgwRm
----------------------------------------------------- ST e
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101. The curing of concrete is the process of

(a) Filling the materials in the left out depressions
to make its surface smooth

Xb)~ Strengthening it through hydration
() Applying distemper paint on its surface

(d) Plastering the concrete surface

102. . _Which of the following mdtdls has the IOWest

temperature coefficient of rcsmlen%e ?
(b) Copper
(d)
Mild steel belongs to the category of :
(@
(b) no carbon steel
=tc) high carbon steel
(d) medium carbon steel

(a) Aluminium

(¢©) Gold gllver

103.

low carbon steel

104. Wthh of these is not a function of alloy steels ?

(@) Improves machinability v~
s
(b) Improves ductility - e
ey~ Reduces cost f“*’w
(d) Increases strength : gﬁ
1%

105. The constant of proportxonahty %etween elongation
- and axial force given by Hooke’s Law is

(@) Elastic limit

(b) Ultimate strength
—4cJ~ Young’s Modulus

EiE

(d) Yield point E'%-

106. The front view, side view and top view of a cylinder
standing on horizontal plane %’leed on honzontal
plane is : *"C;l“'

~@&)~ rectangle, rectangle and citcle

piojes
(b) circle, rectangle and rectaf&gje
(©)
@

Which of the following is not a property of
engineering materials ?

circle, triangle and triangles

rectangle, circle and rectangle

107.

(@) Chemical properties
(b) Mechanical properties _

(c¢) Electrical properties
—+d)" Polymorphism properties

101

102,

103.

104,

105.

106.

107.

14 *
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108. The National Action Plan on Chmate Change | 108.

was launched by the Govemment of India in 2008
with a target to increase forest area from presently

23% to
)y 33% 25%
© 45% (d) 40%

109. Which type of battery is commonly used in modern
electric vehicles due to its high energy densnty and
efficiency ?

(a) Microbial fuel cell
®) Alkaline
(c) Lead acid

J(d)- Lithium ion

0

110. The capacity of the ha'ndling/conveﬁng equipment | 110.

should - the capacity of processing ‘unit or
units. - Shi TRt e S e

(@) Be higher than

(b) Match .

(¢) Be different from
(d) Be lower than
111. Which of the following is not a type‘bf‘ belt eon‘i/eyor ?
(@) Metallic (b) Flat =1 (o
ey Slate -(d) - Telescopic

112. - As per CPCB guidelines, for the-'AQI range of 112.

201 - 300, the air quallty will be :
(@ Good (b) Excellent
' te)y". Severe (@ Poor

113. Phenology is the study of the relatlonshxp between 113.

climate and periodic

(@ Chemical phenomenon
() Physical phenomenon
(c) Biological phenomenon

0z

114. What is the effect of the’ greenhouse gases on the
Earth’s atmosphere ? {

€)—They trap heat and warm the Earth,
(b) They cool down the Earth.
(©) They increase oxygen levels,

(d) They block all solar radiation.

(d) Spatial phenomenon

...................................................................

109.

L) Fagew ()
(c) = {’;f;

111.

114.
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116.

117.

118.

eY

115. . Which technology is used in Crypto cutrency ?
) Blockchain i
_ (b) Artificial Intelligence (AI)
(c) 3D Printing '
(d) Machine Learning (ML)

Dry ice is a solid. Whlch hf‘the following represents
dry ice ?

“”if‘

(@) Nitrous oxide [
Ly

(b) Carbon monoxide )
(c) Lactic acid Ly

€y~ Carbon dioxide

If the Representative Fraction (RF) is 025 and the

- actual length of the ob_|ect is 1- 50 m, the length of the
drawing will be

42y 375 cm
(c) 0375cm

(b) 375cm
(d)' 375 cm

13

EE -
| a@
o

The. Nobel Pnze in ﬁemlstry 2023 has been

awarded to : o i
e, PGS

(a) Moungi Bawendi ' !
(b) Pierre Agostini f;‘ ;
(c) Narges Mohammadi
(d) Victor Ambros |

119. Cellulose is a polymer made from :
I.  Glucose - '
II. Glycogen

- III. Fructose %

IV. Sucrose 4
Select the correct answg&‘ﬁ'om the options given
below : T\- ;
(@ Onlyl 7y
(b) BothIandII E% o}
(¢) BothIlland IV '
(d) OnlyIII

120. In  which year was 5G telecommunications
technology Jaunched in India ?
(a) 2022 &y 2021
(c) 2024 @ 2023

.
PEET L ALE L T cemmmemSSsmeEmS R A s amaenLLL PN
R b L L L L L L L L TR TR P ) e b LT T T I Y

115.

116.

120,

117.

118.

119.

L
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121.

() Tenth year

122.

A2~ Star

123.

£eF~ PERT

124,

@)~ On project completion

125,

dal24

'As per the Factories Act 1948, no child who has
completed his/her shall be required or
allowed to work in any factory.

(a) Sixteenth year

@’r Eighteenth year

(d) Fourteenth year

Which of the following is a type of network
topology ?

(b) Linear
(c) Square
(d) Circular

Which technique helps estimate - duration and
dependencies of tasks in a project ?.

(@) SWOT analysis

(b) Checklist method -

(d) Brainstorming

The Lesson Learned meeting is usually conducted at
which phase of the project ?

(b) During the execution phase
(¢) During risk management planning
(d). During budget planning

66-6% risk is considered as ; 125,

(@) Low
(®)  Very low
(©—High

121.

122.

123.

124.

.........................................
..............................................................................
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@ a?ﬂzr@‘sim

HH-HT THAH %@ﬁ RCIEE &S mﬁ it Iafr R
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(®) %w%zzﬁ{f%; ‘

(c) PERT
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(a) ufESET

(b) ﬁwawm%aﬁm
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126.  Results based on incomplete or prejudiced data,
produced by Al tools, are signified as :
(a) Deep fake (b) Al fairness
o> Al bias (d) Robotics

127. What is Machine Learning used in Artificial
Intelligence ?

(a) To create databases for storing-information

—tb)- To enable computers to solvggf‘)‘roblems without

being explicitly programmed-
(¢) To improve human communication with robots
(d) To control the hardware in r({l‘:é):‘%ts

128. The operator that enables the machine to understand
the meaning of words and sentences in human
language is known as :

(a) Syntax

(b) Semantics
(c) Resolution
(d) Interpretation

129.  Uncertainty can be represented by e

(a) Probability (b) Entropy
~d) Allp the above

(¢) Fuzzy logic

Robots consist of three basic co@fments : power
supply, control (memory) console, pjigl

(a) Co-axial cable {

(b) Microcomputer

(c) Software - .
—(& Mechanical units (arms)

- 130.

131. is considered a type of Artificial
" Intelligence agent. 2 '

(@) Learningagent

(b) Sirriple Reflex Al agent
(c) Goal-based Al agent ™~
(d) Al of the above Ny

Which type of maintenance is mosj.effective ?
(@)~ Corrective maintenance - 1)
<b) Preventive maintenance

(c) Breakdown maintenance

(d) Shutdown maintenance

133. The full form of IoT is :
Ly Internet of Things
_ (®) Institute of Technology
(©) Inter-Operability Test
(d) Index Organized Table

132,

126.

127..

128.

129.

130.

131.

132.

133.

GET IT ON
Google Play

Al TTH S HTEAT ¥ QAR G A G Aot o
T IR 36 T S1TT ST 9ohd @ - ‘
(a) TEU TR (FU®E) (b) Al Frsaemmn

(©) Algaig (d) Qe

Fhm e  wefim @i & swEn fee R Ry
TR ? g

(a) SRR HE A & faw Lerg s

[(b) el i T HH & o Ry R e wy

T | GG AT
(c) ﬁahz%ﬁmqmaw’ﬁg‘mtm
(d) Vee ¥ e Y Frifya e

ﬁmﬁmﬁqﬁmwﬁﬁaﬁ(w%

31} = TN o e S R, S0 F w3
SETSTaT e |

(@ FRe=w

(b) vrsaTifaR (difrea)

(ORRS IR ' %
(d) =arEEr ' , e
Fffaar = BT I ST HFhaT 2 |

(a) "I (R (b) T

(c) it AlfSIR d) SHEwwh

Tele § i qerg e A ¥ : wife STy,
(AR e, T .

(a) e Shered

(b) HTEHIFFRRT

(c) TiFRR ,

(d) i SehTgAT (T
;_aﬁwwaﬂﬂ?ﬁngﬁnmqﬁzmm%l
(@) w7

(b) v forieg Al Wiz

(c) TEI-IFURG Al Wiz

@ SEwwk

Torer Srhm T T e e 2 9
(@) YU W@

(b) Tars w@-we

(c) FhSA W-ET

(d) IS W@
ITHT IR

(a) T 307w Rimg

(b) SrenfehY T

| S-S qiteor


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

"Adda

134. The units
independently are called :
(a) Fundamental Units
«(b) Derived Units :
(c) Auxiliary F undamental Units:
(d) Absolute Units®

eY

whose sizes ' cannot be ' chosen

135. What is the coupling field used between the electrical
‘and mechanical systems in energy. conversion
devices ?
- (a) Electric field only
by~ Magnetic field only
géég)” Magnetic field or Electric field
(d) None of the above
136. When work is done on a body by an external force,
its : ' o
(@
(b)
(©

Potential energy increases.

Kinetic energy increases.

Sum of kinetic energy and potential energy
remains same. O

dy

Both kinetic and potential energy increases. :

137. Which - of the following static characterlstlc of

instruments is undesirable ? .

(@ Reproducibility  (b) Accuracy

Biog Drift (d) Sensrtlvrty
138. The errors committed by a person in measurements
are : -

Sy Random errors
(b) Gross errors
(c) Environmental errors
(d) Instrumental errors

139. A is a physical representation of the
quantity under measurement whose true value is
“known with great accuracy.

(@) Standard
(b) Scale - ' EiE
(¢) Unit lﬁ%i

(d) Least Count
140, In the SI'system of measurements, the | -8
defined as the basic unit of current, which is
considered to be a fundamenlal unit of measurement.
@) Joule (3) (b) Watt (W)
(d) Volt (V)
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142.

143.

144.

eY

~ In fluid energy mill, most of the reduction is caused
by :
(a) Compression
(b) Interparticle attrition
(c) Cutting ELLE
(d) Impact E‘%
-
Consider the following stafeinents : :
I.  Sedimentation is coqdl(xcted ona large scale in
thickeners. e ?
II. Sorting classiﬁcationgge,parates the particles of
differing densities.
Select the correct answer from the followmg
(a) Only Il is true. °
(b) Only Iis true.
(c) Neither I nor Il is true. |
(d) BothIandII are true.
The pitch of a standard'scr?f::w;{"i cdnveer_ is equal to its
— < '
(a) Diameter ?{‘}
(b) Radius & oo e
(c) Halfof the perlmeteru?
~(d) Perimeter
Match ~ List-I (Name of Disease) - with List-1I
(Causative Ageﬁt) and choose the correct answer
from the codes given below the lists : '
List-I List-IT
(Name of Disease) .4 (Causative Agent)
A.  Blue baby syndrome ™ 1. Chromates.
o mmiTaidisesse | i rHE L o
C.. Minamata disease %23 Cd
D. Lung cancer L4, Nitrate
Codes :
: A B C D
(@ 1 25iuxd 4 -
b 4 2 3 1«
—~o— 4 3 2 1
() 1 3 2 4
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145. The probability law that determ
of fraction defective is :

€Y
(b) Poisson
(c) Exponential

ines the ﬂuctuations

Normal

(d) Binomial

146. ‘ISO is only the certification of :
(2) Quality Management System
(b) Product Certification
(©
(d

Environmental Managemeht
HACCEP Certification

147. AIDS is caused by
(@
(b)
©
(d)

Bacteria
Retrovirus
DNA Virus
Fungus »

148. Risk analysis doeé not comprise which von‘e of the
following components ?
(@)
(b)
(©
(d)

149, 1SO-22000 is a derivative of :
L 180-14001
1. HACCP
L. TQM
IV.  1S0-9000

Select the correct answer from the -options given
below -

(@) Both IT and III
(®) Only1

©  Only1v

@ BothTand IV

Risk assessment
Risk identification -
Risk harassment .

<

Risk communication

150, Quality control is a :
Product-oriented approach
(b) Process-oriented approach

©) Marketing tool
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